Statistics 300

Quiz #12 Name: 50 'l-.‘{ﬁ'm

For hypothesis test problems, you must provide ail four parts of the traditional approach.
The test statistic must show the symbolic formula and the formula with relevant values in place.

(8 points : 8 minutes)
1. A group of 257 randomly selected adults began a diet and exercis ram with the goal of
losing 20 pounds each in 80 days. At the end of the 80 days, only 24% had not lost 20 pounds or

more. Use these results to test the program creator's claim that 8 %-of adults who work the ~+— l N {( "p
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(8 points : 10 minutes)

2. Based on "focus group” data (small samples not randomly selected), an advertizer claims that
at least 70% of television viewers who see their beer commercials think the brand of beer is
good. Test the advertizer's claim using the data from a random sample shown below.

(Let o = 0.025 for this test.)
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